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The Edit Checks
1. Serial number should be wrique and in sequential order. {'QC{)”“‘%
2y Industrisl sector must lie in the range 1-5. F S
3, Vard/ 0.5, division, (I.‘EB‘_/UC,BA.G.AJ‘:us,t be present and GE/Vard
d of respective A.G.A's or !;ZQ/UC's must be in accordance with
45 the miven District fode Tists = Tuvld with D197 PL5T
4 Tlectorate code nmust lie in the range 001-160 . f
5\7 District code must lie f.in the range 01-24 and should be equal
to 1et +wo. digits ofhse;rial numb;er. i ' /
€.y Incdustry (ISIC) four digit code (43Y nmust be present. 4
7./ The lest two digits of the serial number should lie in the
renge 8 01-88 =5 00 "1‘1 .- ’f »
8+, In cuestions 12,13,14 and 15 if any field is present, it should
P " be neumeric. #
~

9, {a) Tn 12 (I), & digzit industry code is present then it should

Y  corresponds to a one in given coummodity code list and

%

//&(b)_, Tn 12 (IIT) the vresent unit codes must corresponds to
N
A

its 1st four digits must be the seame as industry (ISIC)

four digzit code (IL).

a one appearing in given product-code-list. . 5
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10. (a) ".’f'q(i.)‘_j : blank for.any j =1 ..... to 9.
) then, v ' ) . )
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E1 (1) ¢ i)y o+ a (wiv)y - q (xi1); 2 0 \
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® {Eﬁ'md/(ﬁ)"ﬁ +q (xi11); - g(x1); > 0 e
. ‘ for tnajc?;
J®) 12 q(i)y,# blank ' 7 IR
then q(vi)1o> 0 .
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. ’ Ft,‘ﬂ 11, «(2) If any field from q(iii)j .to q(}?‘ix)bj is pre'Sent, q(i)j

- should be present.

g3 (b)) For i =1 ..... 8, q(i13), = blenk, then q(i)) = blank, 1" o

f®%€;‘{« /"ﬂ(c) For 21l ISIC ccdes other than major 2, if &(i)j is present, %

‘ ‘ q(iv)j should be present.

12 For j =1 000086 .

,:,g =) g (v)j = tlank, then q(vi)j = blank and vice-versa. }* .

/CD 1 €h /() if g(vii 5 = blank, then q (viii)j = blank and vice-versa. ¥/
| ETe) alv)yH alvitd, g |

. 12, PFor ISIC Major Divieion 3 2nd j =1 «vee 8
IRY) £ R, = oliv). + a(x). + q(xv), + q(xvii}; = a(xvi),
d
J v 4 7 ) J J o
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=y | - q(Xviii)j) o ¥
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14. FOI‘j =1 Jees 8. &’

. T
//éﬁ(a) if g (ri}j = blank, then q (xii)j = blaak and vice-versa.
di £10 (b) if g (xiii), = blank, then q (}Ziv)j = blank and Vice~versa.%~fo.
15. (3) If g (xix)a, or q(xix)bj is present they must lie in
the range (01 - 30).
(Q] The code in q(xix)a'j is present, the value of q(vi)g shoulad

‘i;, lie in the range corresponding to the code in q(?ifk3

(List- 0of ranges & corresponding codes given)
T\ : . .
\/(c) The coderin q(x1x)bj is present, the value .of q(}.lv)j
shculd lie In the range corresponding to the code in
q(xix)bj,
List of ranges & corresponding codes given).

i = 1 eess Co L/('\JT/&T/\;L—QQ}) ?:[ -,rg

J
sy If R(ii).j: blank, then R(iii)j or R(iv)jm'both preseat and

.F blank, then E‘(iii)Ba# blank and vice-versa.

gk blank, then T(iii)Bbiﬁ blank and vice-versa.

IC codes other then najor division 2, if q(i).

\Géy V// is rresent and q(iv). = blenk, replace q(iv)j by q(v)j+q(xiii)j .

- q(XI)j (imputa.tion) 1»1-‘(_9 2,

19, If R(iii)jyﬁ blank, then R(iv)j~#.blank or vice-versz.

J/ Ctherviise impute miscing R(iii}j or R(iv)j as follows,
R(iv).

Define Pj = ﬁTEEE%. for j=1 «ves 8,

so that B(iv), = 9 P. x n(iii).
e l)a.«, b (111)y

it

or R(iii)j X R(iv)j

P

&

“nen both R(iii)j and R(iv)j are present, check the calculated
Pj is within the given ranse. If not impute R(iv)j by considering
R(iu)j to be correct and taking value of Pj to be equal to

the mid point of the given range.

J

1,00 € 2y < 3.00
5.00 $ Py < 4509
0.50 € P, & 2,00 i ‘
12,00 < P; < 14400
7.00 ¢ 7, € 8.50
5,50 € T € 8.00
5.00 & P, <& 7.00 e
30,00 ¢ T, g 150.00
T (Inmputztion)
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20, Define (a) Cutpait fuantity ... oqj.

(b) Output Value cveeoo Ovj
(¢) Tiaw material Consumption ch :

(e) Input Value ... IV

as follows

-
(&) Oqj = Q(V)j + Q(Xiii)j - q(xj_) .fOI‘j = 1...8 y
() 0, = alvi)s + q(xiv); - q(xii)j, for J = 1...9 TV,
(e) 2y = q(ix)j +a(x)y q(:cv)j-f-q(xvil)j - q(xvl)j

-q(XViii)j for J = leeee 10
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(o) (1) 1f 0 . F Zero, then O ;¢ Zero and vice-versa for J = 1oveosB
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~ W)(L) (1) Tor T = 1 4eee 9 Ov'> ch otherwise rejecte
e <

N QD (11) qlvid,q » alix)yy + a(x);q + axv)yy + qlivii)y,
(o\

#

- q(xvi)“) - q(xviii)1o otherwise reject.
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e 25(‘ (3) OV > Iv+ ‘(111)4 othergise reject,
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